RESOLVER LOS EJERCICIOS PROPUESTOS SOBRE LIMITES TRIGONOM ETRICOS

Bloquel

1. Calcular: J = Lim (
x50

a) 2
d) 5

2. Calcular:
J=Um[
x-40

a)l
d) 4

3. Calcular:

J=l.im(
X0

a) 14
d) 2

4, Calcular:

)= u'm[
x>0

5. Cal&lﬁh]-Um[sensx)

sen2x + tan3x
X
b) 3 c) 4
e) 6
X oS 5x + sen3x - tan2x
X
b) 2 c) 3
e) 5
sen7x.sen2x.senx
X,
b) 7 c) 28
e) 49
tan 2x.cos 3x
b
b) 2 c) 3
e) 4

x-0 | tan3x

)

5 6
d) 3 e) 5
6. Calcular: ) = Lim l-oos8x]
x-+0 | 1~ Cos 2x
a) 2 b) 4 c) 8
d) 16 e) 32

x -0 2

b S 1w [(C0S5% - COS7X )
2 Calcular.J-an( il

a) 2 b) 6 c) 12
d) 8 e) 24
8. Calcular:
2 2
3 = Lim sen“Sx - sen‘x
x0 | sen?3x - sen’x.
a)6 b) 25 ) 12
d) 2 e)3
. [ tan2x - sen2x
9. Calcular: J = E'_Q( 3 ]
a) 2 b) 4 c) 8
1 1
d) 3 e) 5



Blogque Il
1. Calcular: J = Lim (3"’“2"]
X0 X
a) 1l b) 2 ¢ 3
d) 4 e)S
2. Calcular:
Ytk XCOSX + 3senx - 2tanx
X0 X
a1l b) 2 ¢ 3
d) 4 e 5
3. Galcular:
I senSx. tan 3x.senx
x40 x’ J
a)s b) 15 ¢) 10
d) 12 e) 24

4. Calcular:

J = Lim
X400

a) 2
d) 24

S. Calcular

a) 3

4
93

6. Calcular:

a) 2
d) 16

7. Calcular:

a) 10
d) 80

8 Calcular:

a) 3
d 7

9. Calcular

a) 1

(sean.taMx.oos 3x
= o
b) 4 c) 8
e) 12
R sendx
L [sean)
b) 4 c) 12
3
e) z
1 - coslbx
? l;j_r.no [ 1-cos4xJ
b) 4 c) 8
e) 2
2k [cosx - oosSx]
x40 xz
b) 20 ¢) 40
e) 160 .
‘ 2 2
J — Lm ,“024X-Seﬂzx
x40 | sen“2x -sen‘x
b) 4 )5
e) 10
ot [tanx;senx)
x=-0 X

b) 2 c)

N -



